
92^(67×+5) -2=-84
' 12×-1-0--2=-84

12×7/12=-84

tl2-12.LI#l.onnAX=-65(-sxt2)=3(x-4)-6
-25×+10=3×-1-2-1
-25×+10=3×-18

-28×+10=-18_÷÷¥÷
✗=\



③A A
-6 (✗+2) =- 6 (✗+4)
-6×-12 = -61×-24-1/6×-1612
- 12 = -24 4

no variable and antrum
statement

N 0 SOLUTION

④

3-TT-znt.in?z)-3-lt2n--2n-4-w-4t2/n--2n/-4
-2h - 2n

- 4 = -4
no variable and True

statement

ALL REAL #'s



5*-71%-3=0 (solve by factoring)
K2-17K-16=0

4%-14<+6-2--0 ¥¥
(214-11×14+3)=0
¥+1.01K-13=0

14=-42 14=-3

⑥3r?4r=O

%÷¥¥=o
r=O F-4/3



⑦
2×2-3✗ = 6 ( solve using quad form)

-6 -6

2×2-3×-6=0
A×4B✗+c=o {

* 'B±t¥#

A-2 B. =-3 c= -6
.

✗=-tD±rÉF
✗ = 3¥27

⑧
14 -_¥+6-6€ %=¥F
(8)±#-)' (4*76)'
64=1×-7

+t×= ¥¥
✗=\



④Tnt -12=-4
-2-2_

☒ = -6

*** can stop here
because ther of

anything cannot be
negative#**

NO SOLUTION ④ 1-2×1+3=11
-3£
1-2×1=8
*

-211=8 -211=-8

✗= -4 ✗ =4



④ 17-1×1
(1*1--140)

47-1×1--10
A-

7-1×-40 714=-10

✗=3 ✗ = -17

⑤
-8/+19×1=-10t8t8_
19×1=-2

*** can stop here
because the / / of NO

anything cannot be SOLUTION

negative#**



④ -2t6x)E -74
-2-12×1-74t¢t2_
¥:{÷

3-6
④→TI+4✗)→ -6s
15/-20×7-65

→_¥;¥÷flip
sign! ✗ 24



④
3-2×-1=9 ⑦

64"=42
5*1=3? (4351=42
-2×-1=2 4-31=4?-2×-3

✗ = -3/2 -35-2

✗= -2/3

⑧

4"=÷6
431=4-1
3.✗=-2

✗= -43



④ y= -3×-160
4×-1 3¥= -18

4×+3^(73×-16)=-18
4×-9×-48=-18

-5×-44=-18-148-1482

¥:¥
✗= -6



④ 4=-4×-40
6

-

8×-24--6
- 8×-2^(-4^+4)=6
-8×+81×+8=6

8=6
no variable and untrue

statement
-

NO SOLUTION



④ y=4
- I2✗ +3¥=5 I
- 12×-1 3^4^1×+17)= S I
-121×-11/2×+51 =5I

51 =51

no variable and True
statement

ALL REAL #'s


